MoHaTre a, a>0,a#1 Io? 2B B8>0
a OgaB=B,a>O,a-'/-'1
= >0
DyHKLMSA =a,a>0,a#1 y=log,x x>0,
y a>0,a#1
[paduk \ /
PyHKLMM T =T 0 y — N
neeé /
CBOUCTBA
y ax-a¥= ax'y
Csouncrtea ?
a X a Y= a X-=y
(@)= axy




CBounctBa norapugpmoB

(nokaszaTenewn)



log . B,B>0

MoHaTne a"a>0,a#1
al‘9ae=p a>0,a#1
DOYHKLUS y=a*a>0,a#1 y=log _x, x>0,
a>0,a#1
pacuk ” y
dyHKUMN 1 1 1 k
neé ‘ “ °‘/ x ‘ EESE
cBOMCTBa
CeorctBa | a*-a¥=aXx*V log _(Bc)=log B +log c

(@) =ax"

C

log , [gj =log ,B-log ¢

log . (B)=r-log_B

1
log X/ = — log _ B

n
log."B"= —log B
m



U3 cnoBapsa Oans:

NIOFTAPUOMDB M. mateM. Ecnu noab

PAOOMDb YNCENL NrEOMETPUYECKOU NMPOrpeciu
(nbcTBULUbI) BbICTAaBUTb PSAb OTBBYaOLLNX
UMb YNCENDb apneMeTU4eCcKkon NPorpeciun, To
Kaxxgoe u3b nocnbaHnxs oyoets
JiocapueMOMBb OPYXKN CBOEN, Bb NEPBOMD
nopaakb; cMMb cCNOCOOOMB YMHOXKEHIE
obOpallatloTb Bb CrNoXeHie, AbneHie Bb
BblYMTAHbE, YTO U ODfierYyaeTs BhIKaOKy.
Jloeapuemuyeckiu, Kb norapmemMmamb
OTHOCALWINCS. Jlocapuemuka . KpuBas
NMNHISA, Bb KOen opanHaTtbl oTBb4atoT
norapmemMamMmb abcuUnCh; NOrucTuka.



